5028 MB Actros high roof / Mega Space sun visor
Fitting instructions

1203 Cover collar 10 pcs 1202 Cover hat 10 pcs
1035 Washer 6x18mm 12 pcs 1225 Rubber washer 40/9x12 2 pcs
1204 Gasket 12 pcs 1227 Rubber washer 40/9x6 4 pcs
1009 Screw M6x30mm 6 pcs 1016 Screw M6x20 12 pcs
1026 Screw M6x40 4 pcs 1051 Washer 6x38mm 6 pcs
1205 Rivet nut M6 4 pcs 3682 Center bracket 3 pcs
3651 Support plate 3 pcs

1231 / 1232 Rubber support 1 pair

1227
(1225)

1016

il




